Activity 21 Trigonometric expressions

171

& Edit Action Interactive

cos® x +sin® x

1 sin(x) ~2+cos (x) "2
. (cos (%)) 2+ (sin(x)) 2
1-2sin” x simplify (
) 1
Sln(x + y) sin(x+y)
sin(x+y)
. sin{x+¥) [ x=2y-1
sm(Sy 1) sin(3+y-1)
expand (sin(x+y)
Sln(x + y) sin{x+y)
texpand (sin (x+y)
. . cos(x)-sin(y ) +sin(x) ~cos(y)
cosxsiny + S1n X CoSs y simplify (ans
. sin{x+y)
sin(x + y) % Edit Action Interactive
cos(x +y) sin(x+y)
. bcollect.(cos(x)oos(y)—sin(x)siF
2sinxcosy cos(xty)
texpand (sin (x+v) +sin (x—y)
Sln(2x) 2esin(x)+cos(y)
expand (sin{2x)
. sin{2-x)
2sinxcosx texpand (sin (2x)
. 3 3 9 . 2ecos(x)+sin{x)
_S].n .’)C + COS .’XZ Sll’lx texpand (sin(3x)
—(sin(x)) 3+3-(cos(x) )] 2-sin(|:
1 —COS 2x teollect (sin(x)~2
2 =(cos(2+x)-1)
2
<3 texpand (sin(x) "3
sin X

(sin(x))3
teollect (sin(x)*3

3sinx —sin 3x

4 combine(1/sin(x)+1/cos(x)
. cos(x)+sin(x)
2(cosx +sinx) cos (x ) +sin (x)
81n(2x) Expand((4sin2(x)+r-1cos(x)];2 ]
16+ (cos(x) ) “+16-(sin(x)) "'b.
. Simplify (
16sin(2x) +16 16+sin(2+x) +16

| Substitute the following expression

tCollect: Transforms products into sums

tExpand: Uses sum and difference formulae to expand expressions
combine: Transforms fraction sums or differences into a single fraction
expand: Multiplies out brackets

simplify: Attempts to simplify the expression. Some results are
unexpected. The result is just the way the CAS engine has been
programmed.
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